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_WG(X.:(): ax+3y. FA)= 2+ve
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590‘11’/07’) + - F’una-f/am o-p Jev&v\a,/ Vamalo/lj

3x+2 3+4 g
oxtdy - /S’

| F(x'33= XY exfj £0,h2)=  (VYIn2) emw.): nd )2 = 2002,

£ (3, o9) = Un3)Un) 47

= Un3)n4) (377)
90 D= (g e 90,07 = (o) e L oo,
s g (,1,2)= (14 D < 50

P(X,j)= \J?-Xz—jz Domain is all (y,j) so tHhat ?—xzj’?éo'

72 x%4g? X2y L T This i the
inside of a eirele of radius 3, censtrac
et he origin , /nﬁ/w///y e éofr/é/”"@;‘

X
P(x,j): \f?f% . Domain is alf (xtg\ so that X—"?S >0.
(cant =0 or denom . will be zem) .
X723. { y=tax
Y < gx i
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This is the half of Jhe Xy»//dme, é;é/ﬂ‘?
+he line Vs £ x, not /‘,«;c/er’/_vy e
lrne ,)l\y//f
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Section F.1- Ceont)

o?O ‘C(X,SB-: >(2+3. C =0 o= )(24—‘3 j: -xZ
c=4 4= x2+j y= 4-x2 Pal\abo/QJ’
¢=9

7= x*+y Yy = 7%

\

o?"[ -F(x,b\).: fjcx cC=0 0 :33" <+ we Anpw 6";50/ 30 &:O (-/J;ex-axls)
€=l =ye* y = e
: (
e=
c=0

a?é?L b= # business calevlofors, 9= &3rq_ph/‘cz§ ca lev lafors. (&/ogfmam%)
1 o) produetion cost = Clb.g) = ‘7’03 +20b
H b) C(800,500)= 9D (500) + 20(80D)= 20 o0  Jo000 = 7 36000,
{ ¢) 9 s now SO instead. Find b so thoat C=32000
‘:1 36000 = 40(ss0) tao b = 22000 +20b
I JHooo = 20 L , S0 b=7F0D. Keduce +he Nom ber of businass

f Calevlators by 100 (fom 800 o 720) o Keep cost ame.
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Seetion 7. |-(Cond)

32 X% machines, g # worker bours. Q/x,g) = /0 xy ae///émﬂs.
/10006 = 1D Xy

ij =100 , j = .’)_‘(’9 5 the r*e/a//oﬂJé?o /YSU/?‘//y in 1000 aell, ones.

34 price = 4 per onit. X = thovsand dsllars on o/é’ve//o/omg/,u{ -
thovsand dollars soent o promotson. #unids bousyh = oy lox

\7;.‘? + X+ .
Costs are SO gprunit. Frnd profit,
Pofit = P(x,b\.—. revenve — cost
y 320y 160
= A ( ;iiq * fff;) - (50)(3-52 4’;?7 -fx*j]
= (A -so)(;i? t Sy - x—y. :

4. lee is Hhickest where level cvrve over land has +he /drgzsz‘
C-valwe  Looks like A5 in /4n4ar4/'f’a, over in +he bo o
10707( Side of Hhe /At'cf"un”, abovt Y000 mehns thick.

TR warmest wa rext b land with e gn it i bacder Jo see.
}5 J2°C near +he coast of ice-boond Hlaska . Can't tefl

W Lasern Australia s e bovsd Lo Hhe map, but Hthe occan
15 1§C or 19°C +here ... lete)




